EML 3013
example




Spring 2007

A hydraulic jack is used to lift up the ramp with an incline angle  as shown.  Determine when the block (10 kg) will (a) slip, (b) tip, (c) both.  The static and kinetic frictions between the block and the truck bed S= 0.5, k=0.4 and the moment of inertia of the block IG=10 kg.m2 with respect to its center of gravity (also the geometric center of the block).
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S=0.5 k=0.4
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N=Wcos()





MT, Tipping moment by friction force F





MC, Counter balance moment by shifting normal force N
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